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PHYSICS SSC-II
SECTION - A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use iead pencii.

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i) A farge ripple tank with a vibrator working at a frequency of 30Hz produces 25 complete waves in a
distance of 50cm. The velocity of the wave is:

A 53cms™! B. 60cms™1 C. 750cms™! D. 1500cms ™!
(ii) The loudness of a sound is most closely related to its:
A Frequency B. Period C. Wavelength  D. Amplitude

(i) An object is 14cm in front of a convex mirror. The image is 5.8¢m behind the mirror. What 1s the focal
tength of the mirror?

A —4.1cm B. —8.2cm C. -9.9cm D. -20cm

{iv) A ray of fight in glass is incident on an air surface at an angle greater than the critical angle, the ray will:
A Refract only B. Reflect only
C. Partially Reflect and Partially Refract  D. Diffract only

(V) Two small charged spheres are separated by 2mm. Which of the following would produce the greatest

attractive force?

A +1gand +4g B —-lgand —4q C. +2qand +2¢ D. +2g and —2¢q
(vi) Capacitance is defined as:
A Ve B. Q C. oV D r
v %
(vii) What is the power rating of a lamp connected to a 12 V source when it carries 2.5 4 current?
A, 48 W B. 145W C. 0w D. 60 W
{viii) The combined resistance of two identical resistors, connected in series is 8 Q. Their combined

resistance in a parallel arrangement will be:
A, 20 B. 40 C. 80 D. 120

(ix) The direction of induced e m. f in a circuit is in accordance with conservaticn of:

A Mass B. Charge C. Momentum D Energy
(X) IfX =A B, then X = 1 when:
A AandBarel B. AorBis 0
C. AisbandBisi D. Aistand Bis0
{xi) In computer terminology information means:
A. Any Data B. Raw Data
C. Processed Data D. Large Data
(xil) The half-life of a certain isotope is 1 day. What is the quantity of the isotope after 2 days?
A, One-half B. One-quarter C. One-eighth D. One third
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Time allowed: 2:40 Hours

PHYSICS SSC-lI

Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Q.2  Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines.

(i)

(ii)

(iif)
(iv)

SECTION - B (Marks 33}
(11 x3=33)

Draw a transverse wave with an amplitude of 2em and a wavelength of 4cm. Label a crest and trough

on the wave

Plane waves in a ripple tank undergo refraction when they move from deep to shallow water. What

change occurs in the speed of the waves?

|s there any difference between echo and reflection of sound? Explain briefly.

What is meant by the principal focus of (a) convex lens (b) concave lens? lllustrate your answer with

ray diagrams.

How does the thickness of a lens affect its focal length?

Describe how would you determine the nature of the charge on a body by using electroscope?

Does each capacitor carry equal charge in series combination? Explain briefly.

Name three safety measures that should be taken in connection with the household circuit.

How many watt-hours are there in 1000 joules?

What are the factors which affect the magnitude of the e.m. f induced in a circuit by a changing

magnetic field?

Can a transformer operate on direct current? Explain briefly.

What do you understand by digital and analogue quantities?

Name two factors which can enhance thermionic emission.

What is the difference between RAM and ROM memories?

What is meant by background radiations? Enlist some sources of background radiations.
SECTION — C (Marks 20

Note: Attempt any TWO questions. All questions carry equal marks. {2 x 10 = 20)

Q.3

b

Describe construction and working of telescope. {06)
A ray of light from air is incident on a liquid surface at an angle of incidence 35°. Calculate the
angle of refraction if the refractive index of the liguid is 1.25. Alsc calculate the critical angle

between the liquid air inter-face. {04)

Derive a relation for equivalent capacitance of capacitors connected in series. {06)
Two capacitors of capacitances 6uF and 12uF are connected in parallel with a 12 V battery. Find
the equivalent capacitance of the combination. Find the charge and the potential difference across

each capacitor. (04)

Explain the use of radicisotopes as tracers. . {086)
Ashes from a campfire deep in a cave show Carbon—14 activity of only one-eighth the activity
of fresh wood. How long ago was that campfire made? {04)
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